B VCE & PDF https://lwww.geekcert.com/gssp-java.html
' 2024 Latest geekcert GSSP-JAVA PDF and VCE dumps Download
: GeekCert.com

GSSP-JAVARSAS

GIAC Secure Software Programmer — Java

Pass GIAC GSSP-JAVA Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/gssp-java.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by GIAC
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest GSSP-JAVA Dumps | GSSP-JAVA VCE Dumps | GSSP-JAVA Exam Questions 1/3


https://www.geekcert.com/gssp-java.html
https://www.geekcert.com/gssp-java.html
https://www.geekcert.com/gssp-java.html

VCE & PDF https://www.geekcert.com/gssp-java.html
2024 Latest geekcert GSSP-JAVA PDF and VCE dumps Download

GeekCert.com

QUESTION 1

You work as a programmer for PassGuide.Inc. You have a session object named sessionl with an attribute named
Attributel, and an HttpSessionBindingEvent object bindingl bound to sessionl. Which of the following will be used to
retrieve Attributel? Each correct answer represents a complete solution. Choose all that apply.

A. Object obj=bindingl.getSession().getAttribute("Attributel");

B. Object obj=bindingl1.getAttribute("Attributel");

C. Long MyAttribute=sessionl.getAttribute("Attributel1");

D. String strl=sessionl.getAttribute("Attributel");

E. Object obj=sessionl.getAttribute("Attribute1");

Correct Answer: AE

QUESTION 2

Mark works as a Programmer for InfoTech Inc. He develops a Java application that uses the encryption and
compression techniques. Which of the following interfaces will he use to control the serialization and deserialization
processes?

A. Flushable

B. Closeable

C. Serializable

D. Externalizable

Correct Answer: D

QUESTION 3

The following JSP scriptlet is given.

Which of the following directives is the
equivalent directive for the scriptlet given above?
A.

B.

C.

D.

Correct Answer: C
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QUESTION 4

Rachel works as a Software Developer for Vivanet Inc. She writes the following code using Java.
class catchexcp

{public static void metha()

{int x=4/0;System.out.print("Caught exception™);}

public static void main(String args[])

{try{metha();}catch(ArithmeticException ae){System.out.print("Caught ArithmeticException");}inally{try
{metha();}catch(ArithmeticException ae) {System.out.print("ReCaught ArithmeticException");}}}} What will
happen when she tries to compile and execute the code?

A. It will compile and execute and will display ReCaught ArithmeticException.

B. It will not compile.

C. It will compile but will throw an exception at runtime.

D. It will compile and execute and will display Caught exception Caught ArithmeticExceptionReCaught
ArithmeticException.

E. It will compile and execute and will display Caught exception ReCaught ArithmeticException.
F. It will compile and execute and will display Caught ArithmeticException ReCaughtArithmeticException.

Correct Answer: F

QUESTION 5

Which of the following exceptions is thrown if a class uses the clone() method but does not implement the Cloneable
interface?

A. CloneDoesNOotEXxistException
B. ClassNotFoundException

C. CloneNotSupportedException
D. NullPointerException

Correct Answer: C
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